



# ORDER STOCK BUTTONS

*Mindmental | Professional Design for Communities and Organizations Serving Military & Neurodivergent Families*

## CONTACT INFORMATION

**Organization/Agency Name:** \_\_\_\_\_

**Contact Person:** \_\_\_\_\_

**Title/Position:** \_\_\_\_\_

**Email Address:** \_\_\_\_\_

**Phone Number:** \_\_\_\_\_

**Mailing/Shipping Address:** \_\_\_\_\_

\_\_\_\_\_

**Installation/Base (if applicable):** \_\_\_\_\_

## BUTTON SELECTION

Select from our stock designs. View full gallery at: [mindmental.co/button-designs](http://mindmental.co/button-designs)

### RED FRIDAY / REMEMBER EVERYONE DEPLOYED

- Dog Tags Design - 2.25" Qty: \_\_\_\_
- Dog Tags Design - 1" Qty: \_\_\_\_
- Clean Text Design - 2.25" Qty: \_\_\_\_
- Clean Text Design - 1" Qty: \_\_\_\_

### THANK YOU FOR YOUR SERVICE

- Universal Silhouette - 2.25" Qty: \_\_\_\_
- Universal Silhouette - 1" Qty: \_\_\_\_
- Script Design - 2.25" Qty: \_\_\_\_
- Script Design - 1" Qty: \_\_\_\_
- Flag Infinity - 2.25" Qty: \_\_\_\_
- Flag Infinity - 1" Qty: \_\_\_\_

### MILITARY SPOUSE APPRECIATION

- Vintage Badge - 2.25" Qty: \_\_\_\_
- Vintage Badge - 1" Qty: \_\_\_\_
- Proud Milspouse - 2.25" Qty: \_\_\_\_
- Proud Milspouse - 1" Qty: \_\_\_\_
- Celebrating Design - 2.25" Qty: \_\_\_\_

**☐ MONTH OF THE MILITARY CHILD / PURPLE UP!**

- MOMC Formal Badge - 2.25" Qty: \_\_\_\_
- Purple Up! Simple - 2.25" Qty: \_\_\_\_
- Purple Up! Simple - 1" Qty: \_\_\_\_
- Support Mil-Kids - 2.25" Qty: \_\_\_\_
- Support Mil-Kids - 1" Qty: \_\_\_\_

**☐ EXCEPTIONAL FAMILY MEMBER PROGRAM (EFMP)**

- Open Hands Design - 2.25" Qty: \_\_\_\_
- Supporting EFMP - 2.25" Qty: \_\_\_\_
- Supporting EFMP - 1" Qty: \_\_\_\_
- EFMP Simplified - 1" Qty: \_\_\_\_

**☐ AUTISM ACCEPTANCE**

- Life in Expert Mode (die-cut) Qty: \_\_\_\_
- Gold Infinity - 2.25" Qty: \_\_\_\_
- Gold Infinity - 1" Qty: \_\_\_\_

**☐ VETERAN RECOGNITION**

- Veteran and Proud - 2.25" Qty: \_\_\_\_
- Proud to Have Served - 2.25" Qty: \_\_\_\_
- Proud to Have Served - 1" Qty: \_\_\_\_

**☐ OTHER BUTTONS**

- Custom selection - please specify below Qty: \_\_\_\_

**☐ ADDITIONAL CATEGORY**

- Please specify: \_\_\_\_\_ Qty: \_\_\_\_

**PRICING CALCULATION**

STOCK BUTTON PRICING (per design):

**2.25" Standard Buttons:**

10 buttons @ \$2.50 each = \$25.00 × \_\_\_\_ designs = \$\_\_\_\_\_

50 buttons @ \$1.70 each = \$85.00 × \_\_\_\_ designs = \$\_\_\_\_\_

100 buttons @ \$1.50 each = \$150.00 × \_\_\_\_ designs = \$\_\_\_\_\_

500 buttons @ \$0.52 each = \$260.00 × \_\_\_\_ designs = \$\_\_\_\_\_

**1" Compact Buttons:**

10 buttons @ \$1.80 each = \$18.00 × \_\_\_\_ designs = \$\_\_\_\_\_

50 buttons @ \$1.30 each = \$65.00 × \_\_\_\_ designs = \$\_\_\_\_\_

100 buttons @ \$1.20 each = \$120.00 × \_\_\_\_ designs = \$\_\_\_\_\_

500 buttons @ \$0.48 each = \$240.00 × \_\_\_\_ designs = \$\_\_\_\_\_

Example: Paint Design Format (Life in Expert Mode):

10 buttons @ \$2.80 each = \$28.00

50 buttons @ \$2.00 each = \$100.00

SUBTOTAL: \$\_\_\_\_\_

Shipping (calculated after order): \$\_\_\_\_\_

TOTAL: \$\_\_\_\_\_

*\*Totals will be finalized on your invoice after form review.*

**EVENT DETAILS (Optional)**

**Event Name:** \_\_\_\_\_

**Event Date:** \_\_\_\_\_

Event Type:

Military Spouse Appreciation Month (May)

Month of the Military Child (April)

RED Friday Campaign

Autism Acceptance Month (April)

Veterans Day

Memorial Day

Installation Event

Family Readiness Group

School Program

Community Event

Other: \_\_\_\_\_

## DELIVERY TIMELINE

When do you need your buttons?

- Standard turnaround (3-5 business days after payment) - No additional fee
- Rush service needed - Date needed: \_\_\_\_\_ (+\$50 rush fee)

Shipping Method Preference:

- Standard shipping (5-7 business days)
- Priority shipping (2-3 business days) - Additional cost
- Overnight shipping (1-2 business days) - Additional cost

## **PAYMENT INFORMATION**

**An invoice will be sent after this form is completed and reviewed.**

**You will receive an invoice within 1-2 business days after form submission.**

New clients: 50% deposit required to begin production

Preferred Payment Method:

- PayPal Invoice (Credit/Debit accepted)

## ADDITIONAL NOTES OR SPECIAL INSTRUCTIONS

---

---

---

## AGREEMENT & SIGNATURE

By signing below, I confirm:

- ✓ I have reviewed the button designs at [mindmental.co/button-designs](http://mindmental.co/button-designs)
- ✓ I understand stock buttons are pre-designed and cannot be customized
- ✓ I understand new clients require 50% deposit before production begins
- ✓ I agree to payment terms outlined above
- ✓ I have provided accurate shipping and contact information

For custom design modifications, please complete the Request Quote form instead.

**Signature:** \_\_\_\_\_ **Date:** \_\_\_\_\_

**Print Name:** \_\_\_\_\_

## SUBMIT THIS FORM TO:

Email: [hello@mindmental.co](mailto:hello@mindmental.co)

Website: [mindmental.co/agency-services](http://mindmental.co/agency-services)

Questions? Contact us at [hello@mindmental.co](mailto:hello@mindmental.co)



*Thank you for supporting trauma-informed, culturally competent design  
for military families and neurodivergent communities.*

**mindmental.co**